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Instructions for candidates:-

1.
2.
3.

This exam is in two parts.
Part-1 is related to Mental Ability Test.

Part-Il relates to-ScholasticAptitude Test. It consists
of nine subjects, details of which are given below:-

i) Physics iiy  Chemistry
iii) Biology iv) . Mathematics
v) History - vi) Geéography
vii) Civics viii} Economics

ix) English

Each question carries one mark. All questions are
compulsory. |

You have been provided with a answer sheet (OMR)
for this question paper. Darken the correct option of
each question in the answer sheet (OMR) with
black/blue ink.

Rough work may be done on.the blank space

provided.
There is no negative marking in this question paper.

Do not use white fluid on OMR Answer Sheet.

1.

2.

3.

Wit 3uR | & W : 200
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v) fefgom vi) FaE

vii) STMTHHIT  viii) MITHHIT
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Mental Ability

Direction Question (1-4) there is a number series
following a pattern one place is left blank. Find the
answer among the options. - '

I.

87.56,30, ...

1. 26 2. 20
312 4. 0
4,5,12,39,160, .............. '

1. 805 2. 790
3. 695 4. 225
2,12,36,80, 150, ....oovvrens _
1210 2. 258
3. 252 ' 4. 194
124,139,127, 142,130, 145, .....oovrveere.
1. 127 2. 132
3. 133 4. 149

Direction Questions (5-6) Find the missing term in

place of question mark.
5.
3812269
34| 23127
281141 ?
1. 46 2.29
3.23 4. 99
BEDN
Noant
519
1. 121 2. 64
3.3 4. 1
7. In a certain code language ‘NAME’ is written as
‘OYPA’ then how will “TEAM” be coded in that
- language? ‘
1. UCDF 2. UCDH
3. UCDN ‘4. UCDL ’
IfMINERAL is written as QRSTUVW and SOUND

is written as ABCSD, the how will READER be
written in same code?

!

HTSfAE GarsT

g yEw (1-4) fa'g viert &t at fesh aneht 3 et
fe'e réa RETUT F9F WET At 995 BEt feamut 3 At

fegsuetI=adl
1. 87,56,30, .o
1. 26 2.20
3. 12 4.0
2. 4,5,12,39,160, ..........
1. 805 2. 790
3. 695 " 4,225
3. 2,12,36,80,150, e '
1. 210 2. 258
3. 252 4. 194
4. 124,139,127,142,130, 145, ..cceoveen
1127 2. 132
3..133 ' 4. 149
faaer yus (5-6) Y fSa St gt I nA € feFae
feasuta'gd)
> 1138|2269
34|23 |27
28114 2
L. 46 2,29
3.23 4. 99
4|7
6. [Sf417)\°
g\ 9149/ 2
Y
1. 121 2. 64
3.3 4.1
7. fai &5 g f&9 NAME § OYPA fafimr mrer 31
g g f€e TEAMETda dt 9<ar?
1. UCDF 2. UCDH
3. UCDN 4. UCDI
8. @49 MINERAL § QRSTUVW %3 SOUND §

ABCSD fafipnr 77 gt READER § €7 &5 &9
fae fafpsr Ardam?



1. QDZCDQ 2. SBFEFS
3. UTVDTU 4. TUDVUT

9. On26January, 1947 is SUNDAY, then which day on
2 September, 19477
1. MONDAY - 2. TUESDAY
3. WEDNESDAY 4. SUNDAY

10. What will be the angle between the minute hand and

hour hand of a clock at 7:35?
1. 22%° 2. 17'%°
3, 120 4. 0°

11. Aissonof C, C and B are sisters, D is the mother of
B, E is the son of D, which one of the following is
correct?

1. Eisthe maternaluncle of A
2. Bisthe grandfather of A

3. CandE aresisters

4. E and A are brothers

12. 'In a row of children Teena is 5th from the left &
Meena is 6th from the right, If they interchange their

- places then Teena becomes 13th from the left. Now
what place will be occupled by Meena from the

right.
1. 4 2. 14
3. 15 4, 18

Direction (13-14) Study the letter series and answer the
following questlons

13, ... bea......... cca........ Ca........... b......... ¢
1. aaaaa 2. aabaa
3. bbabb 4. bbbab
14, ... cb........ Clucnrenes bach.........ca......... bac......... d
1. bddddb - 2. addddb
3. bbbddd 4. addbbb

15. If a man facing east rotates in clockwise direction
45° & then, anti clockwise 270° then clockwise 180°
which direction is he facing now.

1. South-East 2. West
3. North-East 4. Sou_th

Direction (16-17) Question six faces of a cube are
painted in such a way that no two adjacent faces are of
same colour. The three colours used are Red, Blue &
Green. The cube is then cut into 32 smaller and 4 big
cubes in such a way that big cube has no red face.
Answer the following Questions.

16.  Howmany cubes are coloured on three faces?

1. QDZCDQ 2. SBFEFS
3. UTVDTU 4. TUDVUT
9.  HAdd 26 AE<H 1947 $WITT IS 3T 2 ASET 1947
gatfesd=ar - |
1. MONDAY 2. TUESDAY
3. WEDNESDAY 4. SUNDAY

10. A3 @7 & Ut fie 3 waft & firet eet et 3
uifont T3t gt fea faa faadt or de wdam?

1. 22%° 2. 17%4°
3. 12%° 4. 0°
11.. A,CEYIIL,CHI B3 I5ID,BEHFTIE, D
. E"'U?E'a' & fefipt fe g faoar sta it
1. E,ASTHHT |
2. B,ATTEvETd|
3. CIESTT TSI
4, EMIATT IS

12. Wﬁﬁammmﬁm&sem
FI e A UG 63 Fas 3 T AT Gurrust
Hapt feq oA 375 wes 8 3t AT BEls E U
UfAG 132 AE's 3 v /e 3195 g st e

SRR URE fas< rars 3 §24i?
1. 4 ) 2. 14
. 3. 15 4. 18
ﬁw@rmus-mnﬁu&ﬂa‘rmtwmmm
feasugd
13, s bca......... cca......... Ca...ocee..e B....coe. c
1. aaaaa 2. aabaa
3. bbabb 4. bbbab
14, s ch.......cannn. bach......... Ca......... bac......... d
1. bddddb 2. addddb
3. bbbddd 4. addbbb

15. #99You ¥ Y faur fenaat waft &t pet &t femr
WMEAT 45° faart vaer 3 3 I &9 wEt St
Aetot & @mz femr feg 270° yger 3 Ivnfler 180°
faara‘rwa‘te?mﬁe’rhmfavuwﬁlarw

. @Herfawfaaa‘rfewe'sa?
1. e‘ue—gasr 2. Uaw
3. €99y 4, oYE

ﬁmésm(ls-mh%aré‘ureé(m&)@fen
gt Jor iz famrr 3 fa 75 S9e a9 @ faafourt 2
fed frar foradt' 31578, 313 3 73 Saret wea

I iIfeRfa3 R wz A T a8 U3

feq fad maa e I 1u=fon syt sz e ot o, fa
ﬁuaa*éfaﬁ#tha%éwaarm?ilg%a
fe€

16. ﬁ%utefg.'ﬁams‘ﬁfawhmﬂi?




L3

Lo 2. 8

3. 16 4. 32
17. Howmany cubes have exactly two faces painted?
1. 16 C 2,20

3. 32 4, 36

Direction (18-19) Questions match the numbers in
Column I with the Rules in Column IE. '

Column I Column Il
17 _ 2x*+3
18 2x*-1
57 ‘ X+2x
28 x-3x
15 3x*+1
18. Whichrule the number 28 follows?
1. 2x-1 2. 3x*+1
3. x-3x 4. x'+2x
19. Which number follows the rule 2x*+37? -
1. 15 - 2. 17
3. 18 4. 57
20. Which of the following words cannot be made from
the word “COMMUNICATION”.
1. UNION 2. ACTION
3. MUSIC 4. CAUTION
21. Arrange the following words according to
dictionary arrangement.
a) WOUND b) WRITER c¢) WHITER
¢) WORST f) WORKED
1. caebd 2. adceb
3. dcbae 4. cedab

22. Select the combination of numbers so that the letters
arranged accordingly will form a meaningful word.

J] ¢ o P T E R
1 2 3 4 S5 6 1
1. 2645137 ' 2. 1345672
3. 7645132 4. 4731625

Six friends A, B, C, D, E, F are sitting in a closed circle
facing the centre. Direction (23-24) Questions.

Eistothe Leftof D
CisbctweenAandB
‘FisbetweenAandE

1.0 ‘ 2.8

3. 16 4. 32

17. & wat§ fAae @ urfmt 3 &fapur fapur 37
1. 16 ' 2. 20
3. 32 4, 36

fasw yaa (18-19) Tv&H-1 ’veame‘mfale‘m*
Afimret e figre ae-11 9 cone o fawmrt
BRI

Fen-11

TBH-1
17 2x*+3
18 -. 2x*-1
57 o CXH2x

. 28 ' x°-3x

15 3+

18.  fifin 28 fag= famrmdizs mr@ €t a7
1. 2x*-1 2. 3+
3. x*-3x 4. X'+2x
- 19. fagahifunr fam 2x'+3 Wt w8 dt a7

1. 15 2.17
3. 18 4, 57

20. €3 9 mue € nivet T 95 fou 9 faugr mae
“COMMUNICATION” 3 &4t gt ar Ager?
1. UNION 2. ACTION
3. MUSIC 4. CAUTION

21. O3 9 AEe §AueHl BeT SE S HHGHI a9 |
a) WOUND tg WRITER ¢) WHITER

€) WORST WORKED
1.. cacbd 2. adeeb
3. dcbae 4. cedab

22, et @ wfsay Ry 9 fam wigae F wivat §

FoIg fo gt s 3t et Arogg HET B2 |
] ¢ o P T E R
12 3 4 5 6 1
1. 2645137 2. 1345672
3. 7645132 4. 4731625

f&o8w Y@& (23-24) @ AT A, B,C, D, E 3 F gaq
fe9, v AW ITYPoaed #3751 '

E,DSYTURII
C,A3Befegaradl
FASEQfegaadl



23. Whoistothe Leftof B?

1. A - 2C

3.D 4. E
24, WhmsthenghtofC‘?

1. A 2.B

3.E 4. F

25. A man is performing yoga with his head down and
legs up. His face is towards the west. In which
direction will his lefthand be?

1. North 2. South
3. East 4, West

Direction (26-27) are based upon the sum of addition,
Each letter has unique value and for unique value
there is unique letter.

. . L E T
leenE=74‘ *T H E
. L. OSS
26. FindthevalueofO?
' L3 _ 2.1
3.0 4, 2
27. Findthevalueof S?
LR 2. 6
3.4 4.2

28. Aprinter numbers the pages of a book starting with 1

and uses 3193 digits in all. How many pages does the
book have?

1. 1074
3. 1076

2. 1075
4, 1077

Direction (29-30) Questions. A carpenter has the five
wooden articles A, B, C, D, E having different weight.

. Aweightstwiceas B
2. Bweights four & halftime as muchas C
3. Cweights halfasmuchas D
4. D weighis halfasmuchasE
5. E weights less than A but more than C
29. Whichof'the following is lightest in weight?

1.D 2.C
3.B 4 A
30. Whichofthe followingarticle is heaviest in weight?
1. E : - 2.D
3.A 4. C
31. Findoddoneout '
1. SEPTEMBER 2. JULY
3. MAY 4. APRIL

23. BedHuRIA=HoTI?

1. A 2. C
3. D 4. E -
.24, CERAURAHTY?
1. A 2. B
3. E ‘ 4. F

25. mmm?mmamw@ww
mavaafemﬁu@wfawmﬁm@n?w
Jufaost ferrd= 57 '

1. €39
3. yd¥

2. oYE
4. ¥gH

fagewyms (26-27) yEs fEe fear famrprs mjt 3
»uria3 3 Aad+H € fe'g vivg set fase fea tahig

_hlé‘fe“-cra?mwfnwfa%a‘tnfuﬁl
- _ . L E T
feorde=4 ‘T H E
26. 0TI I? LOSS
1.3 2.1
3.0 4.2
27. sEaaRI?
1. 8 2. 6
3.4 4.2

28. feq fies fagw & Ufemt § 1 msrfa‘ua'raa
' aae*iragwn%mfmwmgwfaweﬁa

ir e r. Y|
1. 1074 2. 1075
3. 1076 4. 1077

- f59" YEE (29-30) fo's gawrs &5 wadt Tt O
TR A,B,C, DT ETifrgtergafia-fasdi

1. ARTIGBEH IS II
2. B CEFF AL IS e d|
3. CETFADYTEIE AT
4
5

. DETFTERTIIE MU J!
5. EEvg9 AT WU C T fipwrerdl
29. Jofafimt fES g 3 ondt eng faagt a7
1.D 2. C
. 3. B 4 A
30 Jofafiont (9 AT T gt eng faat 7
" I.E . 2.D
3. A 4. C
3. SUgTgE - .
. 1. A9Eg 2. g8
3. HE 4. mim




32, Determine the Relationship.
CLOSE:DNRWJ:: OPEN:

1. RZWR 2. RPJB
3. PRHR 4. PRIQ _
33. TEACHER, COLLEGE, STUDENT, which figure
" represented it?

OO. .@

34, If ‘green’- is called ‘red’, ‘red’ is called ‘blue’, ‘blue’

is called “white’, ‘white’ is called ‘yellow’, ‘yellow”

is called ‘violet’ then what is the colour of grass.
1. Green 2. Red 7
3. Yellow 4. Violet

35. In a certain code language, “Sue Re NIK™ means
“She is brave”. “Pi sor Re NIK” means “She is
always smiling” and “Sor Re Zhi” means “is always
cheerful.” What is the code used for word

“smiling™?
1. Sor 2. NIK
3. Re 4, Pi

36. ' In the following sequence of Instructions, 1 stands

for RUN, 2 stands for STOP, 3 stands for GO, 4
stands for SIT and 5 stands for WAIT, If the

sequence were to continue, which instruction with

come next?
44545345314531245453453
1. Wait 2. Sit

3. Run 4, Stop

In the following figure, rectangle, square, circle and
triangle represent the regions of wheat, gram, maize
and rice cultivations, respectively. Give the answer.

5 | K_/7

~ 37. Which area is cultwated by rice and maize and

nothing else?
1.9 2.8
3.7

4.2

32. REUAETUI AT
CLOSE : DNRWJ :: OPEN:
1. RZWR 2. RPJB
" 3. PRHR 4. PRIQ

33. TEACHER, COLLEGE, STUDENT § 35 ffipnt
‘F faodtmas Adt eanr @St 7

OOO @O @

3. AT R § &, &5 § 3w faor a1 W §
ree/fae faor 7o) 62 § Uler, Wig § da=

fargr @ gt wrg e dardt ISar?
1. 3 2. B
3. Wisr 4, Harst

35. faR & FA' ’F “Sue Re NIK’ & %" “She is
brave” &1 “Pi sor Re NIK” & aq “She is always
smiling” 3 “Sor Re Zhi” €' WMdH “is always
cheerful” T1“smiling” Fee St faus a7 &t €93
St
1. Sor _2. NIK
3. Re 4. Pi

36. ﬂ'afha‘lwgaa*gfuwamuq,le*ma
FHAST, 2 T HIBH JAS, 3 TTHIBH B, 4 T
HIBY 852" W 5 @ HIwY 81T FoaT d 1 Had
foat w2t Berave I8 99 3 o 3 e megt
HI'faa fagar W ygnrdar?
.44545345314531245453453

1. @ 2. dz=r
3. Sg&T 4, gg=r

fo'cht 3o waws e, e, wow, ag wd foie

»i‘dt fa'3 B2 Wigw's 839 92, 88, Hal w3 T8
@ IR EF R TSN gean Q2 751

1

. 4 /3 2
5 /119 /
\y

11

37. hawﬁaam?uﬁgew@?ﬁn@ﬁaﬁﬁ

2.8
4.2 .



Observe the colours and answer the following:-

oL o=
g G
| White .

¥
| ewe
Yellow Red

38. Whichcoloured surface is opposite to yellow colour,

1. Green 2. Orange
3. Red 4. White
39.  Howmany cubes are there in the given figure?
1. 132 '
. , 3 .
2. 138 : 3
3. 140 R
4. 142
st
R

Direction Question (40). Given four figures three
figures are similar in a certain manner. Choose the
different one. (Odd one out)

40.

fartuwead 3 doH eI R yms e Qe et -
' w 2 G
- oy Rw

+®

38. WiB Jor I n3fo @ ronE =@t A3fo 3 faoa Sar
eI

1. gar 2. H3dt
.88 4. AeY

39. fegaefesofeafdduzoa?
1. 132 '

2. 138
3. 140 | - & X

4. 142

Bl L e
fagew yms (40) 99 fo'39 €3 o g3, s fo'ge
»ur fegNe e 95, # fegst se s sat yter, @R
AT (FUrgd)

40.

aY
0_1C
Y

cuc
m‘

~
DI
W/ |

_
LD
N\

1.

2.

3.

4.

~
0 1C
Y

CLIC
'

™M
DI
/

~
DID
N

1

2.

3.

4

Direction Question (41). The following question
consists of four problem fig. ABCD and four answer
figures Marked (1.) (2.) (3.} (4.) select the gif. from
- amongst the answer figures which will continue the
serial.

41. Problem Figufe

I XOA1

XA1O? t2AX0 | 01Xx7A
A B C D
Answer Figure
| a?2xto | rotx? | 1x240 1 AO?21X
1 2 3 4

faméwqmun 45 fe' yas &9 oo s fo'ae
ABCD 3 e @Fafa's9(1.)2)(3.)4) e 3 T5I1yms
fo'sat v st § o @t ST Qe v wra famsyt ‘@ fo'w
- . ’ , .
41. yasfaas

XAt 0 ?._xdm 12AX0 | OtX7A
A "B - C D
a7x10 | AOIX? | 1X700 | AO21X
1 2 3, 4




42.

43.

44,

Fig. A and B are related in some way. According to

* same relationship among C and D. Choose the

correctalternate. -

Problem Figure

X ]cn +1+ 1

Il
D)
B
>

fg39 A w3 B fE'9 3¢t AT nerfu= 31 QF Sgt e
riYg f9' 39 C w3 D feo rafug 9d Aot feasu <t
g=adl '
yms fege

X fle H|H |

I
D
I

~

C S|— I »
A B C .. D
Answer Figure
S X Cle X =
C X i X
— = - ~|C =
1. 2. 3. 4,

C S|— v %)
A B c D

" I .

s X Cle x[s =
C X { X
1. 2. 3 4,

What is the minimum number of different colours
required to paint the given fig. such that no. two
adjacent regions have the same colour?

L5 2. 4
3.3 4.2

How many triangles and parallelograms are there in

the following figure?

/N

1. 21,17
3. 21,15 -

219,13
4. 19,17

raeTd fa a8 B ae (fEq g ©) e 3et (&9 fea
JFIIEIR? ‘

1.5
3.3 _ 4.2
1. 21,17 2. 19,13
4. 19,17

3. 21,15 -



45.

46.

- 47.

- 48,

- Find the water image of figure ‘X’.

‘ _
Gy

(X)

POPP
5 e

 Findthe mirror image ofthe following,

NTSEscoLeR
1. AsdoasHETH 2. AaJoczE2THU
3. fAsLoasESNT 4 fAslJooz292TU

Which three figures among five figures A, B,C,D &
E will forms a complete square.

=

A
1. ABC - 2. BCD
3. CDE 4. BCE

A square fransparent sheet with a pattern is given.
Fig. out from amongst the four alternatives as to how
the pattern would appear when the transparent sheet
is folded at the dotted line.

- Transparent Sheet.

3>

= T [B [

1. 2. 3. 4.

Direction'Question (49). Paper has been folded as
shown with the dotted lines in the given fig. PXYZ &
paper has been cut. How would the paper look like

" when unfolded.
- 49,

Ao

45.

46.

47.

48.

-3. _flsLogsESNT

3. CDE~

mﬁ%mﬁw‘x'mwwﬁw
S
il

- _ X) . '
S R R Ry
PYPE

i fedue 3 s fio'grfe'ga fan sgtfoiam?

NTSEscoLeR

1. Asdoosd2THU 2. A9JoczE2TH

4, AsdooedeTHU

feTa® (R fd'39°A, B, C, DI E feF fru3 35
fogefusa e egargeQ=dt

NranV/B

1. ABC

2. BCD
4. BCE
fé'q Taarara Mie Uess war & fegt ot 4, fase
& fFa v feasut ABCD feF € 7 (A7)
g UTg QYT T8 Hiz § Fenit mElET wgAg

Hfamr wter 3 1 far 3gt feyret &<
Transparent Sheet. '
3
Response Sheet. |
>N BT BN

1. - 2 3 4, '

fmém[aam)mﬁ;éfe'-argu.?ﬁ'ﬁ?(z"za‘hﬂ)
et @ 5 5 o ater 31 AR fe'gT PXYZ
feoferdifeshwafenraerditwizes 3

famr aqt fedam €39 fe6 '
49, - '

{
P ]

P X - Y i/



nYg < w g ¢ QY7 < N g ¢
’ <> <> .
1. 2. 3. 4. ' 1. 2. 3 4.

50. Seclect among four alternatives which complete the

5L

52.

53.

54.

given Matrix.

ool M P
P 2

Bl T
I ) 3, 4.
PHYSICS

A body of mass 1 kg initially at rest is moved by a
horizontal force of 0.5 N on a smooth frictionless
table. The work done by force in 10 sec. is

1. 10.5] 2. 125]
3. 20) 4. 22}

A boy hears an echo of his own voice from a distant -

hill after 2 seconds. The speed of sound in air is 350

“m/s. The distance of the hill from the boy is

1. 175m 2. 200m
3. 350m 4. 250t

An clectric heater consists of 20m length of
manganin wire of 0.23m’ crossectional area.
Wattage of heater when potential difference across
the heateris 200 vis

1. 10°W
3. 10°W

2. 100W
4. 10°W

A beam of white light when passes through a glass

prism, a spectrum is observed. But when same beam
of light passes through holtow grass prism then

1. Spectrum is same

2. Spectrum becomes brighter
3. There will be no spectrum

4. Coloursofspectrumreversed

50.

51.

52.

53.

54.

»rIar?

=
=
s

>

1. 2. 3 4.
#faa fefarnrs

1 faBapy IR =51 gar= 3faa W Qua uet §ifem

Qua0.5N BT g% sarer g S feg ot fSanir Atet

I 19w onivar 10 Rfa iR digraaa di
1. 1057 2. 12,53
3. 20 4.22]

feq isT wrudt wirew S g § fe'a gt Syt
32 Afés oo geer J 1o fefg uat S arst 350
m/s 318Ut & s 3 gt 9-

1. 175m 2. 200m

3. 350m 4. 250m

foor faws dteg 7 Aaarfss &t 3o S afenwr 3, fen
20m Suret B Raartas €l 9 € ufausg et ae
TTEgEes 0.23m' T fen fams Aeg St w9 -

1. 10'W 2. 100W

3. 10°'W 4. 10°W

fg2 yarw &t faes we a'w &t fupy f€'9 graeet 3
gt v fea Al fiser J1yg v fedt feey@m
ot faes feq Gust o<t it feF gmeet o 3*

1. St ggreralaa fizer g

2. AUdeH dT S T Aie a1

3. detAlEeH 4T Hserl

4. AN B TH GBS IAC TS|



.58,

56.

57.

. 58.

59.

6l.

When a current carrying conductor is placed in a
direction parallel to the magnctlc field, force on
conductor is

1. Zero
3 ION

2. 100N
4. 1000N

An object of size 4 cm placed perpt;ndicular tothe

principal axis of concave mirror. The distance of the
object from the mirror equals radius of curvature,

The size of the image willbe :
1. 1m 2. 2m
3. 35cm 4. 4cm

The most important safety method used for
protecting home appliances from short circuiting or
overloading is

1. Earthing 2. Useoffuse
3. Useofstabilizer 4. useofelectric meter

The equivalent resistance between the points A and
B in the circuit as shown in the figure given below is

MWL AT

20 - 20

L MV W———
2Q

1. 1ohm

L2, Iéssthanlohm
3. morethan | ohm 4. § ohm

The masses of 10 kg and 20 kg respectively are
connected by massless spring. A force of 200 N acts
on the 20 kg mass. At the instant shown, the 10 kg
mass has an acceleration of 12m/sec’. What is the
acceleration of 20 kg mass?

—B

S’""L_/ >

‘10kg 20 kg
1. 12m/sec’ 2. 4m/sec’
3. 20m/sec’ . 4. Sm/sec’

A bullet of nrass 0.1 kg is fired with a speed of 100
m/sec., the mass of gun is 50 kg. The velocity of
recoalls

1. 0.2m/sec 2. 0.1 m/sec
3. 0.5m/sec 4, 0.05 m/sec

Which of the following frequency of sound can be
generated by a vibrating simple pendulum as well as
by the vibrating vocal cords of a rhinocerous?

I. $Hz 2. 25Hz
3. 10Hz 4. 15000 Hz

55.

57.

58.

59.

60.

61.

10

56.

116w
3. 1GawS=T

#e feq 3w (gursa) fan €9 g9¢ gager 99,
@ng guat 497 € MHataT afier AT @R Gue
Sfarnras J-

ic) 2. 100N

3 10N ~ 4. 1000N )
HAd TET 4 AH &t SAZ MEIT TS THY O3 3
m&mﬁwﬁne‘rmgeﬁmé
TAIITR T ST & It Yt e it 29

1. 1Mt 2. 2t

3. 3580 4 4RN
mnafaéar»@@aaﬁféars‘um@uaa?srﬁ
T TR I U RIS I faumr I7

1. FRum 2. fe@udt=ed

3. Rfamvdimedtwad 4. famashiteadtees
f€F % Aoae fe's fig A w3 fig B fev a5
I faaram? :

—— MWL AT
A—d 22 20

20 :
2. 18T
4. 890 .
10 kg %3 20 kg IA+ & fea Ua ofoa nufder a7
a9 I 20 kg UF T 200 N 8 Barfenr fapyr
w3 10kg U7 T 12m/sec’ YRar & st famm120

——B

kg UAeTyRITUzTad |

10kg 20 kg
1. 12m/sec’ 2. 4m/sec’
3. 20m/sec’ 4. Sm/sec’

0.1 kg © Bt 100 m/sec T IS 7% gBTEt aEd
mﬁwa*u;rwkgwe*m(kecml)wéar
ugTadi

1. 0.2m/sec 2. 0.1 m/sec

3. 0.5m/sec 4. 0.05 m/sec
mhmﬂmmmmmmma
ot er g3t

1. 8Hz 2. 25Hz

3. 10Hz 4. 15000Hz




62.

- 63.

64.

65.

66.

67.

68.

69.

70..

1. 27gm’
3. 40.5gm

Which of the foilowing isnot an example of biomass
energy source? '

1. .‘ Wood
3. Atomic energy

2. Garbage
4. Coal

A needle placed 45 cm from a lens forms an image

on a screen placed 90 cm on the other side of lens,

- focal length and type of lens is

1. +10cm, Convexlens 2. +30cm, Convex lens '
3. 430cm, Concavelens 4. +10cm, Concave lens

CHEMISTRY

I 1 .5 moles of gxygen gas combines with solid

Aluminium to form ALO, What is the mass of
Aluminiumused in the reaction? .

2. 54gm -

4, 8lgm -

A student test the pH of distilled water and found that
the colour of pH paper changed to green. He
checked the pH again after dissolving a pinch of
common salt in water. The colour of pH paper this
time will be:

1. Green 2. Yellow

: 3. Red 4. Blue ,
On electrolysis of brine solution the products
formed are:
1. NaandCl, 2. H,,0,andCl,

3. H,,Cl,,andNaOH 4. NaOH, Cl,and O,

What is the valancy of an element having atomic .

number 18.
.2 2. 8
3. Zero 4, 6

Number of molecules present in 18g and 18U of
water respectively

1. 6.023x10%and 1 2. 6.023x10%and 18
3. 18and6.023x 107 4. 1and 6.023x10"
By adding acetic acid to solid “X” a colorless and

‘odourless gas “Y” is evolved. The gas “Y” tumns

lime watermilky. Whatare X and Y.

1. Xis Sodium carbonate and Y is CO,. -

2. XisSodium hydro-oxidéand Y is CO,.
3. XisSodiumacetateand Y isCO,.- -

4. Xis Sodium bicarbonate and Y is SO,.
High melting point of a compound indicates
1. Strong Intermolecuiar forces.

2. Kinetic Energy of molecules is more.

3. Speedof molecules is more. ,

4. Compound can diffuse easily

62.

63.

64.

© 65.

66.

67.

68.

69.

70.

1. B9l

1. +10cm, @3B 85T

3. 40.59PM

35 fafon &S faoa seir e Rz 549t 3
' 2. g@Tagde
3. Qenr 4. aBT -
feaenafﬁﬂg'mgﬁcme'rea’rgafmmw '
i’re*qa’ﬂﬁsrmere?rwn%cma*aw%lm '
dreas gat I yaa J| : _ '
2. +30cm, €35 85w
3. +30cm, MIIBFEH 4. +10cm, MI3E BaA
" 1.5 HS wrarlvs i, AgHiahh 378 g3 3
gnrfes fefamrs ALO, g=78€ g5 3t fen fafonr
dara Mty e fasT gra=afanT fapr?
1. 273 2. 54TpH

. 4. 813 -
fe'a fefenradl & arife s uat & pH & yay digt
w3 n & e fa pH Gug wr Far gov T fapwr i
@waaﬁh?mmwa@mﬁwnam_

~ 1SH@W AN pH @ erJarait § Frar?

1. 9a - 2. ytzr

.85% 4, StBT

AEy 89 © AS-Ww © faasel ruwes
B faaE 3uT yET Un?

1. Namg Cl, 2. H,,0,mM3Cl,

3. H,,ClL,,3NaOH . 4. NaOH, c1,nr;'0,
UaHE Aftpr 18 T8 I I & AnaaT faat 3<a?
1. 2 2.8

3. /e 4. 6

walsamrmg 1suut ffgyet e fad mg

Jear?

1. 6.023x10° M | 2. 6023x10“bl3'18

3. 18%36.023x 10"+ 4. 1m36.023x10”

fea uguss! fE9 dF aF uoay X oo wrfes

w3 fodte w3 dudts SR Y faasdt 1

Y 3w g4 & uet f&9 dwr@z 3 g8 v us

eu’tnrrzrwm X3 Y s fegatas?

1. X Agtiy aafiae W3 Y a*amm@s'
Imdy

2. XWWWYW
WMEATHF AN T

3. X Agtuy mfiee M3 Y S9EssEHaAES
It

4, X A8y ardflaaide M3 Y ASSISTEl-

PTIATEF i | ,
faﬁsnw@"aﬁmmwa‘team@‘eff‘r?
1. Wﬁ?l—lﬂ‘ﬂ?%l

o 2 annmﬂérﬂarfsw@am

4, SAY

n@ﬂ*e’r%'tra]a’n .
5 w»mwﬁmqnaa'aamam



71.

72.

73.

74.

7s.

76.

77.

A metal on heating in presence of air gives

compound which is soluble in water and have high .

meltmg point. The metai is: 7
2. Carbon
4. Iron

1. Calcmm '
3. Silicon _
An element which is essential constituent of all

organic compounds belongs to which group in -

Periodic Table.

I. Group2 2. Group 14

3. Growp 16 4. Group 17

How many covalent bonds are presént in Pentane?
1.8 | 2. 10

3. 16 4. i4

Which one of the following is not an isoelectronic
with Neon atomn R

1. ,0° - 2. ,Na"
3. F 4. Mg"

The formula of sulphate of eiement X is X, (80,)..
The formula of nitride of element X is.

1. X;N 2. XN,

3. XN 4. XN,
Three testtubes containing :

Test Tube X: 5mlof HCI

Test Tube Y; 5ml of HNO,

Test Tube Z: 15ml of HC1+5mi of HNO,

A small piece of metal was added in all the three test
tubes. It dissolves only in Test Tube Z. The metal is:

1. Al 2. Au
3. Cu 4, Ag
_ B_IOLOGY
Match the column I with the column I
Colymnl Column I -
i. Repal artery . a. It stores the urine untilt
it is releaced through
o ,the Urethra. '
ii. Kidney b. - It passes urin¢ from
kidney to urinary
bladder.
. iil. Ureter c. It filters the blood and
) forms urine.
iv. Urinary bladder ~ d. It bring blood to the .
kidney for filtering

- waste,

2

71.

72.

73..

74.

75.

76.

71.

wEE T o7 §9 fuuss g @ Gl gear
JpFersHaEtd?

1. BEP 2. IIEE

3. fAstas 4. Fav

nradifad Gforat & wg T wgdt I vireedt maat
vfanaguaF s RAg dyer d? :
1. a@u2 2. I 14

3. IFUI6 4, IFY17
m%mmhﬁnﬁ;ﬁﬁﬂ’rmaﬁ

1. 8 210

3. 16 4, 14

5 fefiprt =T faw f'S fons prg & 'S
fedaers aat g Are?
L. ‘.0"

3. F*

IF X T G & Asde 578 Gfad v 539 X,(S0,),
1 ferm I3 X & EW € Fvteels &5 &t gav
Jqar?

1. X,N

3. XN

fas uaussht: :
ugusstafea s st HCl
uuERI u ST 5 i Bt HNO,
ugusstarfes 15 st HCl+5 fit 81 HNO,

39 UuaE! f&9 o3 o feqa zaar ufeyr fapri
mse*gaafﬁazum'm%mfa‘aww

2. XN,
4. XN,

J1az faus fe e faaat o2

1. Al 2. Au

3. Cu 4. Ag
aesHle i saaHi| aT ag|

TBHI FTRAII

i geeTOHEl  a. feoysed €F Fawmyraedt

I Ae ST YT HaTT fer §
FesTaTl

i, JFE b. feT Y39 § gefent 3 ys9
. HAETIIUITE I
iiLyggefost ¢ feu g §lewevaaet dma
YIS QT
iv.ygomer  d feg 87 § oe ST sEg

yoant § fesed aes wet
fenietdn -



78.

79.

80.

81,

82,

83..

84.

3, Waterharvesting

Lid . iic  iii-b iv-a

2. ia ii-b iii-c -iv-d

3. ib ii-a fii-d iv-c

4. i-c ii-b jii-a iv-d

Which one of the following is the ﬁmcnon of the
enzymes of Pancreatic Juice?

1. trypsin digests protein and lipase dlgcsts
carbohydrates

2. trypsin digests emulsified fats and hpase digests
proteins

3. trypsinand lipase digest fats

4, trypsin digests proteins and lipase digests
emulsified fats.

Which of the following is not a correct pair :-

1. Adrenaline Pituitary gland
2. Testosterone Testes

3. Estrogen Ovary

4. Thyroxine Thyroid gland
Pine and Deodar are the example of

I Gymnosperms . 2. Pteridophyta
3. Thalloph}rta 4. Bryophyta

Khadins, Bundhis and Ahars are ancient structures
thatare exampleof .
1. Grainstorage 2. Wood storage

4. Soil conservation

Read the following statements and select the correct
option

Statement I : Snails and Mussels are Molluscans

Statement II : Sea Urchins and Scorpions are
echinodermates '

1. onlystatement I is true

2. only statement H is true

3. Bothstatements1 & Il are true

4. Bothstatements I & Il are false

rereeemsseviesesaesemnneennins i Bukaryotes is separated from
the cytoplasm by double layered membrane and it

- directs the life process of the cell.
L. Golgi Apparatus

2. Nucleus

4, Ribosome

A feature that is common in yeast, amoeba,
parameciumis

1. They all are multi cellular

2. They all reproduce by budding

3. Lysosome

3. Theyalireproduce by binary fission

4. They all are unicellular

78.

79.

80.

8l1.

82.

83.

84.

1. id ii-c iii-b iv-a
2. ia ii-b ifi-¢ iv-d
3. i-b -ii-a fii-d iv-c
4. i¢ ii-b fii-a iv-d

vsfsfun#h“ﬁ‘haa*feawwéﬂm@#?

aHY?

1. feuns (@st & uros w3 sl aaeadiede
TUgs Bet

2. founs, sedtwS SElE (&sT T USs B

3. founs W Brilg 99t S Uas BEt

4. fauns {&Ast v STElE 9ol © Uas BEt

Io fafit &S faga rdt Far &9t 3

1. wsdftaiss : fugdiedtd=

2. Snewdtes yTEESt

3. MNEHIS ECh:

4. griegrafis greftorels dfEt
UTHE M3 (Deodar) fe@ea fan et Qoraaat as1
1. f&AuH 2. d@Serder '
3. &8 4. gfeGedter

ufes, mmmmmm@w
Gegast 75|

1. MEH IS 2. a_aaﬂ?aw
3. A IFIAS 4, AT AgE
ot aest FuFHI aafeasuge)

TGS | : Wl w3 Ahibt Henar 7 | :
qEs1: mmn@fagﬁmam
1. ITFFES IR T

2. GEHFEE I AT

3, FEE | MI TES [ TE RGN 51

4, FES IS AU ES IBI TS| -

Eﬂﬁf@?ﬂ'fiﬂ' ......... ererrerrenne . Svdt festgnar
fis yegg 3 WBW § Aer § feo A § Aes
 faferrei wet fsgeuféerd
1. s EieTet 2. dwaw
3. BEARY 4, IETERA
wilg, nnfter, ﬂanﬂn‘rmwf*ﬁrwazfaa-srz‘t?
1. feard aghstas

2. fegRd gfdaradt yRes qae I8
3. feond T iES feft et yAesaae a5
4, feorgfeaAstas
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86.

87.

88.

89.

90.

91.

. 3.. Moilusca

Which blood constituent makes ‘up more of the  gs

volume of blood

1. Redbloodcells 2. Plasma

3. Bloodprotéin 4. White blood cells
Homologous organs BIC - eeeeeereeeeerreessereessesesereesene
1. Dissimilarin origin, similar in function.

2. Dissimilarin origin and dissimilar in function,
). Similarinorigin and similar in function.

‘4. Similarin origin-and dissimilar in function.
What is the correct direction of flow of electncal 87.
. impulsesin nerve cells"

You observed a slide of animal tiséue and observed _88.

(i) long cylindrical and unbranched cells (ii) They
had dark and light bands. The tissue could be of

1. Unstriated muscle fibres 2. Neurons

3. Striated musclefibres 4. Cardiac muscle fibres

Which organ is infected when a person suffers from 89,

Jaundice?
1. Bones 2. Liver
3. Lungs 4. Nervous system

The animals having jointed legs belongs to phylum 90,

i. Annelida 2. Arsthropoda

4. Nematoda

MATHEMATICS

If p+ci+r = 0 then the value of 91.

2p(qtn) +2q(pt) + 2r'(ptq)
Par

willbe

Ldpar 20— ‘3.6 4.6

14

Y& o faagm i ys e orfegs 2ugard?
l. FE@WIE 2. USTEMY

3. Zgids 4. RREIFAITE
RHFTN AT ..o nr.y

1. Y& 05 (9%, TTARNS

2. yEus fgam3genAfis

3. YB TOETANTS M3 90 S ANS

4. WEITOE AIHEHI gradfas - '
a2 e f2'T fawedt wrsar o Adt femr or somy
fagard? '

ﬁzkﬂammaaﬁéwa(l)m
FBITAE M3 AU I3 AT (i) I U A FF)

fegfaaarfegdmaeral.

1. wdtsfogidtfes 2. stAE

3. gdlea Nt fey 4, fes Umt feg
.ﬁaafemazmﬂmwwmaaaéavenwfaaar
warygrfegd=ar? -

1. TE - 2. frae

3. T 4. STyt

7309 83 8 A7 fan TEiey &% R gue
T5? -

1. Waifgsr 2. nirgguT
3. ¥BRar 4. faHrésr
afez
Hagptqtr=03 3t
2p'(qtr) + 2q'(pr) + 2r'(pHq)
par
?tﬁ&'ﬁéﬁl"’
1
1. 3pql' . 2, W 3.6 4. "6
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93.

94.

95.
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99.

100.

A circle is inscribed in a square of side 2.5cm.
Another circle is circumscribing this square. The
ratio of areas of outer circle and inner circle is

Loz 20420 30 21 4 3
If x= _\]_ then find the value of 4x*+2x’-8x-3.

1. 0 2.2
3. -2 4 \2

How many revolutions will a circular wheel of
radius r units will make to cover a distance of 100
times its diameter?

93.

94.

- 95,

100 T 50
I. . "“"'n_ 2. ] OOT[ 3 . ﬁ(‘)- 4. _1-'[-_
Iftang + cotd = 1 then the value of sing + cos will be
equal to(where ¢ is an acute angle)
e 2. V2 3. 43 4.1
If pth term of an AP is q and qth term is p then mth -
term ofthis AP will be:
1. ptgtm 2. p+g-m
3. pqm 4. p-g+m

Two dice are thrown. Find the probability that sum
of numbers of both up sides of both dice is a perfect
square. .

1 7 3
L5 2736 36
From the top of a tower of h m high, the angles of
depression of two objects, which are in line with the
foot of the tower are o and P (P>a). Find the
difference between two objectives.

1. h(tan-tan ) 2. h(cota-tan )
3. h{cota-cotf) 4, h(cota+cotP)

Ifthe distance between the points (4, q) and (1,0)is 5
units then the value of q is -

1. 4 2.4
3 x4 40

The area of an equilateral triangle is 49V3cm’.
Taking cach vertex as centre, circles are described
with radius equal to half the length of the side of the
triangle. Find the area of the triangle. Find the area of
the part of the triangle which is not included in these
circles.

3. 4. 0

(3=1.73, F%—Z)

2. 77.7cm’
4. 70.7cm’

1. 84cm’
3. 7.77cm’

15

96.

97.

98.

99.

100.

2.5 RH gH" 8 a1 &t garet & gder dfenr
fe'sr g9 few & »ad fufen fapur g1 =gar & o9
fyat & f&9 Suwer fe'a gradt Tag fufonr famr
31 adt wF viegat gad € U39S T iU
UgT &I

1. 1:\2 2421 3. 21 4 3l

Had x —7—— It A+2x7-8x-3 E""H‘B‘UBTHEH

1.0 2.2

3.2 4. V2

fo'a udt® & fameT nigufenm « fearenr 7, M@
fenmm €t 100 I=T Tt 3w F95 BE! @8 Ia9
argS =g

100 i 50
1. - 2. 100 3. 100 4. —
AT tand + cotdp = 1 T& 3 sin¢ + cosp TTHS I |
fRaofeafageded)
1. 0 2. V2 3.3 4.1

Aad fal AP E7 pT UT g md qFT UE pd< ITEHAP
TmIUT TS J=ar:
l. ptg+m 2, ptg-m
3. p-g-m 4. p-qtm

TUH fed S A I IAg=aTUIT dc “urfrmft

FQua et ifimret T AF fET Uds <aarae |

1. —é— 2. 316 3. % 4.0

hvt: @S feg eeg e QU fRe S S =g v fa
g e isB g etufevas, erfsesdasan=
B (B>a) T Ifeaat @Azt & feaaast gdt uaTaqd|
1. htana-tanff) 2. h(cota -tan p)

3. h(cota-cotB) 4, h{cota+cotp)

#ag @ f&ent (4, @) M2 (1, 0) € fegarast gt 5

feqrehit I2 3t qET B TSaT™
1. 4 2. 4
3, +4 4. 0

fe'g angt fIgw ov 439e® 493 <gamH T Ifere
fiat & d'ed s & Sae fi9 o 95, fagt e »iaw
fenm fer fagw & g &t dwrdt er i 31 fggw
T O FaroT A3lTeE T a9 A fa fegt gaut nifls
Sar e

(3=1.73, =2

2. 77.7<dIAH
4, 70.7<9dTHH

1. 84<ddTAH
3. 7.77<9dTAH
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103.

104,
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106.

107.

108.

If ¥(0.04 x 0.4x) = 0.4 x 0.04ly . Then the value
of X is

Y
1. 0.0016 2. 0.16

3. 0.016 4. 1.6

One litre of water weighs 1 kg. How many cubic
millimetres of water weigh 0.1 gm?

1. 100 2. 10
3.1 4. 0.1
If x=3 2£ then the value of x is:
125°
] 2 4 1
1.25 2.15 3.35 «4.45

If x men can do a piece of work in 8 days and (x+4)
men can do the same work in 6 days then x is equal to:

1. 10 2.6
3. 12 4. 24

Ifx'+y'+z’ = ¢ where x=rsin Acos B, y=rsinAsin
B then Z has one of the following values:

1. rsinB 2. rcosA

3. rtanAcosB 4. rtanAtanB
Find the solutions for ‘x’ in eqn.

a+:)+x‘ - %+—é—+%is;

1. -a,b 2. -a,-b

3. a,-b 4. a,b

In the given figure, ABCD is a cyclic quadrilatical. If
ZBAC = 60°, ZBCA=20° then find the value of
ZADC?

A
B D

2

C
1. 15° 2. 50°
3. 80° 4. 40°

A copper wire when bent in the form of a square,
encloses an area of 484 cm’. If the same wire is bent
in the form of circle, the area enclosed by it is:

1. 210cm’
3. 512¢m’

2. 6l6cm’
4. 54cm’

16

101.

102.

103.

104.

105.

106.

107.

108.

AT V(0.04 x 0.40) = 0.4 x 0.04Vy T2 3*%-@
HE ot §Sam?

1. 0.0016 2. 0.16

3. 0.016 4. 1.6

fe'a faeg yet v g | fadary 91 f68 we
fishiteguraterg190.1 apHa?

1. 100 2. 10
3.1 4, 0.1
ﬁ-orax=3’2~1%— 52 gt x v iE TAT

1 2 4 1
1. 2-§- 2.1 3 3. 3-5- 4, 4“5-

Hag x mrert fga o § § fest iR qee e ma
(x+4) et €7 an & 6 fest ffg gae d= 3t x
HITHT g=ar:

1. 10 2. 6

3. 12 4. 24

Aggx+y'+z =r fAdx=rsinAcos B,y =rsinAsin
BI@ I I3 fhpyr i <2’ &t faagt aivg d2ait?

1. rsinB 2. rcosA

3. rtanAcosB 4, rtanAtanB
mias feg x’ seTy s &t J<ar:
111 1

a+b+x a b ’

1. -a,b 2. -a,-b

3. a-b 4. a,b

fdS fig'ge fR T ABCD fe'q 9adt 9gegn d, Hdd
ZBAC = 60°, ZBCA= 20° 3@ 3T LZADC T HE

Uy3radl A
B D
20
C
1. 15° 2. 50°
3. 80° 4. 40°

feq 38 &t 39 § 7 <99 © e Ty Afenr

. Hrar ¥ It foT 484 =991 A S39es et T19a9

€F 39 § Iq9 € nrae fe's Al e 37 feg
fast ygdes Waai?
1. 210<daTAH
3. 512<adTAH

2. 6lo<TaarAa
4. 54<ddIAY



109. The mean temperature of Monday to Wednesday

110.

1.

112.

113.

114.

115.

was 37°C and of Tuesday to Thursday was 34°C. If
the temperature on Thursday was 4/5th that of
Monday. Then the temperature of Thursday was:

1. 35.5°C 2. 34°C
3. 36.5°C 4, 36°C

In a box containing 100 bulbs, 10 are defective.
What is the probability that out of a sample of 5
bulbs none is defective.
1 5
2. (2)

HISTORY
In IMF and World Bank, the decisions are taken by-

1. developing nations

1. 107

3. (%)5

2. a joint council of developed and developing
countries

3. Western industrial powers
4, leastdeveloped nations

What led to town planning of the city of Bombay in
18807 :

1. Thesocial tension

2. Poverty

3. Fearofplague epidemics
4. Riots

Which of the following novel deals with caste
oppression?

1. Sultana’s Dream 2. Indulekha
4, Padmarag

Who described Mazzini as ‘the most dangerous
enemy of our social order?

3. Saraswati Vijayam

2. Duke Metterinich
4. Lord Byron

1. VlctorEmmanucl It
3. Johann Gottfried

Why was the Vietnam war called the first television
war?

1. Brought home, stories from soldiers
2. Ledtoincreased sale of television sets
3. Battle scenes were shown on daily news

4. Television was invented
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116.

117.

118.

119.

120.

121,

122.

" 3. Rainfall
123.

124.

Who said, “printing is the ultimate gift of God and
the greatest one?

1. Charles Dickens 2. L.V.Schely
3. Mahatma Gandhi 4. Martin Luther

Which of the following combination correctly
indicates the three flows of international economic
exchange -

1. Capital, goods, raw material

2. Goods, metal, labour

3. Goods, labour, capital

4. Labour, capital, food grains

The slogan ‘Jai Hind’ was given by -
1. Lal Bahadur Shastri

2. Subhash Chandra Bose

3. Jawahar Lal Nehru

4. RasBehari Bose

What was the relationship of Guru Amardas Ji with
GuruRamdas Ji?

1. Father 2. Son
3. Brother 4. Father-in-Law

Name the treaty signed on 26th December, 1846
after First Anglo Sikh War?

1. Treaty of Paris 2. Treaty of Lahore
3. Treatyof Bhayrowal 4. Tripartite Treaty
Who established Dal Khalsa?

1. Nawab Kapoor Singh

2. Banda Bahadur

3. RanjitSingh

4. GuruGobind Singh Ji

GEOGRAPHY

‘Relief”, *Cyclonic’ and ‘Convectional” are types of
which of the following?
1. Soil 2. Water

4. Forests

To which of the following, the study of ‘Seismology’
isrelated?

1. Atmosphere 2. Floods

3. Tides 4. Earthquakes

What is the area of Chandigarh?

1. 114 sqkilometre 2. 1014 sqkilometre
3. 10140 sqkilometre 4. 50362 sqkilometre
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125.

126.

127.

128.

129.

130.

131.

- 1. Gold

132.

133.

134.

Which iatitude passes approximately through the

middle of India?
1. Equator 2. Tropic of Cancer
3. TropicofCapricom 4. Prime Meridian

With which agent the features like *‘Stalactite’ and
‘Stalagmite’ are related?

1. Air 2. Sea

3. Undergroundwater 4. Glacier (River ofIce)
In which state of India the ‘Kandla Port’ is situated?

' 2. WestBengal

~ 4. Gujarat

1. Punjab
3. Andhra Pradesh

Which of the following states has the least
‘population density’?

. Bihar 2. Uttar Pradesh
3. HimachalPradesh . 4. Arunachal Pradesh

Which state of India has the maximum area under
forests?

1. Haryana
3. Rajasthan

2. Tripura
4, Karnataka

From which language the word ‘Monsoon’ has been
derived?

1. Hindi

3. German

2. Arabic
4. English

For what mineral, the mining region of ‘Kolar’ and
‘Ramgiri’ in Indian are famous for?

2. Silver

3. Copper 4. Bauxite

Which state of India is connected to China (Tibet
Region) through Nathula pass?

2. Assam
4. Arunachal Pradesh

1. Meghalaya
3. Sikkim

CIVICS

Who was the Chairman of Drafting Committee of
Indian Constitution :

I. MotiLalNehru
3. B.R.Ambedkar

Which of the following is a big challenge to
democracy?

2. Jawahar Lal Nehru
4. Rajender Prasad

2. Political Parties
4. Hliterate Citizens

1. Leaders
3. Elections
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135.

136.

137.

138.

139.

140.

141.

142,

143.

Which of the following is not the quality of ideal
citizens ;-

1. Good health

3. Tolerance

2. Patriotism
4. Iliteracy
Seats arereserved for women in :-

1. Parliament

2. Panchayati Raj Institutions

3. State Legislature

4. RajyaSabha

Which type of government is a federal governments:
1. Centre and State Government

2. Govt. of two States

3. Centre and two State Government

4. Centre and three State Government

How many state governments are functioning in
India :-

1. 7 2. 28

3.13 4. 29
Anordinary bill is represented in -

1. RajyaSabha

2. Lok Sabha

3. Anyhouse of Parliament

4. RajyaVidhan Sabha

Who is the constitutional head of India?

‘ 2. Queen

3. Prime Minister 4. President
Which of the following is not the National Flag :-
1. Shiromany Akali Dal

2. Bhartiya Janta Party

3. Indian National Congress

4, Bahujan Samaj Party

India is a federal state because :-

1. King

1. Dual judiciary
2. Written constitution
3. Dualcitizenship

4. Share of power between centre and state

ECONOMICS
GDPcanbewrittenas ....ooooiieeeeeaeeaaens
1. General Domestic Product

2. Gross Domestic Product
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144,

145.

146.

147.

148,

149.

3. Gross Develobment Product

4. General Development Product

ForeignTrade .......cccevvveececncnanes

1. Increases choice of goods

2. Decreases price of goods

3. Increases corﬁpetition in the market

4. Decreases carnings.

COPRA full formis

1. Co-ordinatioh Protection Act
2. Co-education Protection Act
3. Co-operative Protection Act

4. Consumer Protection Act

Which of these notes are issued by finance

department of Govt. of India.
1. T500 2. 3100
3. ¥2000 4. 31

What is the impact of Green Revolution.
1. Forestareaincreased

2. AirPollutiondecreased

3. Wheat Production Increased

4. Milk Production Increased

Globalisation was stimulated by :-
1. Money 2. Transportation

3. Population 4. Computers

A CONSUIMIET «.veeeceveceeneerrerreessecerenssssnmtrasareennemnsiissss

1. Sells goods and services.
2. Buy goods and services.

3. Produces goods and services.

4. Delivers goods and services.

150.

What is the time-period of 12th five year plan?
1. 2002-07 2. 2007-12
3. 2012-17 4. 2017-22
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ENGLISH

Q. (151-153.) Read the following passage carefully and
answer the questions that follow:

151,

152

153.

Some people think you need a kitchen to cook
dinner. But you can make easy, delicious meals
outside over a campfire. :

One easy campfire meal is a baked potato. You wrap
the potato in tin foil and put it under the flames in the
hot ashes. After an hour, the heat from the fire will
cook the potato. Open up the tin foil package and
you have a baked potato!

It is also easy to roast food over a campfire. You can
put hot dogs or sausages on sticks and hold them in
the fire. The flames will cook the meat. For dessert,
you can roast marshmallows on sticks. Hold them
near the fire until they turn golden and begin to melt.
But do not leave anything in the fire too long, or it
will turn completely black and taste like ashes.

There are many nice things about campfire meals. To
make these meals, you do not even need to know
anything about cooking. Some people also say that
food tastes better when cooked and eaten outside.
But the best part of these campfire meals s there are
no dishes to wash afterwards.

As used in paragraph 2, which is an example of a
package?

I. French fries are served on a tray in the cafeteria
2. Anewtoy comes wrapped up in a plastic box

3. Cookies are easy to remove when there is tin foil
on the cookie sheet

4. You can use a knife to cut open an orange instead
of peeling it

The author warns that if you leave anything in the

fire too long, it
1. cangetbumed 2. canbe dangerous
3. willmelt 4. will fall offthe stick

Which sentence from the passage best describes
why campfire meals are easy to make?

1. “But you can make easy, delicious meals outside
overacampfire.”
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154.

155.

2. “You wrap the potato in tin foil and put it under
the flames in the hot ashes.”

3. “Itisalso easy to roast food overa campfire.”

4. “To make these meals, you do not even need to
know anything about cooking.”

Afterreading the passage, we can conclude that
1. youdonot need much to cook a campfire meal

2. cooking over a campfire is more fun than in a
kitchen

3. roasting food on a stick or wrapping it in tin foil is
the only way to cook a campfire meal

4. if you do not cook in a kitchen, you do not have
any dishes to wash

Accordiﬁg to the author, the best part of these

campfire meals is that they
1. areeasy 2. aredelicious

3. taste better outside 4. useno dishes

Q. (156-160.) Read the comprehension passage
carefully and answer the following questions :-

156.

What needs to be setright is our approach to work. It
is a common sight in our country of employees
reporting for duty on time and at the same time doing
little work. If an assessment is made of time they
spent in gossiping, drinking tea, eating “pan” and
smoking cigarettes, it will be shocking to know that
the time devoted to actual work is negligible. The
problem 1is the standard which the leadership in
administration sets for the staff. The ministers mix
politics and administration. What do top burcaucrats
do? What do the below down officials do? The
administration set up remains week mainly because
the employees do not have the right example to
follow and they are more concerned about being in
the good books of the bosses that doing work.

The employees in our country
1. are quite punctual but not duty conscious

2. Are not punctual but somehow manage to
complete their work. '

3. Aresomewhat lazy but good natured

4. Arenothighly qualified



]

157. According to the writer, the administration in India 1. RPQS ' 2. QRPS

1. Isbyand large effective 3. SRPQ 4. SPRQ
2. Isstrictand firm 162. 1. : Thepigeons were used
3. Iseffected byred tape P. :asmessengers
4. Ismore orless ineffective Q. : which were tied
158. The word assessment means: | ‘R. :inthe olden days
1. Enquiry 2. Report S. :tocarry messages
3. Evaluation 4. Summary 6. :totheirfeet
159. Theleadership in an administration 1. PQRS : 2. SPRQ
1. Setsafine example to the employees A 3. PRSQ 4. PRQS

2. Isofareasonably high standard
163. 1. :Socrates
3. Iscomposed of idealists

P. :nevertomake
4. Isofavery poor standard
Q. : agreat Greek Philosopher
160. The central idea of the passage could be best
expressed by the following: - R. :and hadresolved
1. The employer’s outlook towards work is justified S. : tried hard to central himself
2. The employee must change their outlook towards 6. :ashow ofhis temper
work 1. SRPQ 2. QSRP
3. The employees would never change their work .
culfure . . 3. QSPR 4.PQRS
4. The employer employee relation is far from - 164. 1. : The important thing
healthy ‘ ' -
P. :winning
Q. :isnot
Q. (161-164.) The 1st and the last parts of the sentence R. -but
are numbered 1 and 6. The rest of the sentence is split -
into four parts and named P, Q, R & S. These four S. : taking part
parts are not given in their proper order. Read the . .
sentence and find out which of the four combinations is 6. :inthe Olympic games
correct. 1. PQRS 2. QPRS
161. 1. :A d:ctlonary 3. SRPQ 4. QSPR

P. :arranged words

Q. :aboutwhich information Q. (165-168.) The following questions has the second

R. :containing alphabetically sentence is missing. Choose the appropriate sentence
' from the given options to complete it.

S

6

:isabook . .
165. A. A gentleman who lived alone always had two

:isgiven " plates placed on the table at dinner time.
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166.

167.

168.

C. he used to give the cat a piece of meat from his
ownplate.

1. One plate was for himself and other was for his
cat. '

2. She drooped a mouse into her own plate and
another into her master plate.

3. In this way the cat showed her gratitude to her
master.

4. The cat was nice to the master.

. Satyajit Ray made many films for children.

. Ray, was a pioneer in this field.
1. Later, film makers have followed his lead;

2. Today, other nations are making children’s ﬁlms
inabigway. :

3. This was at a time when no director con31dered -
children as potential audience.

4. But today few think of Ray as a maker of
children’s films.

A. Villages are usually thought as the placesiof
peace and solitude.

C. Lifeinavillage isnot as fast as in the city.
1. There are fewer distractions for the villagers.

2. A common bond of brotherhood exists-in the
villagers of one another.

3. Just like life in a city, a village. has its own
attractions and revulsions.

4. villagers are a home away
from the busy life in cities.

AA computer is an electric device.

C. The computer helps us create programmes,
communicate and help us to earn.

24

1. Information is stored and managcd by
computers. -

2. We have really arnved into an era of global
world.

3. Theinternet is complicated web of satellites.

4, That helps in boosting our efficiency.

Q. (169-170.) Choose the word which best fills the

- blank from the four options given :-

169. The President of India called upon the people to
“their religious differences and
strengthen secularism in the country.

1. abolish 2. exhort
3. sink _ 4. condemn
" 170. My father ~_of seyere pain in his chest.
1. questioned‘ | " 2. complained
3. afraid 4. expressed

Q. (171-173.) In the guestions below, out of four
alternatives, choose the one which can be substituted

~ for the given words:

171. Government by aking or queen.

1. Theocracy 2. Monarchy
3. Democracy 4. Republic
172. Childofuhusualorremarkaﬁletalcnt. -
1. Tﬁlented 2. Distinguished . -
| 3. Reputed 4. Prodigy '

173. Scarcity of rain or water
1. Drought 2. Draught
3. Tide : 4. Barren

Q. (174-181,) Select this meaning of the given phrases/
idioms.

174. She was remarkably - is singing
and dancing. '




175.

176.

177.

178.

179.

180.

181.

_ 1. Conducive

-3. Arrogant

3. shining _ 4.

2. Reluctant

4. Accomplished

A technology starved customer would only be

to be presented with a new project.

1. Thriving 2. Declarative

3. Imitable 4. Thrilled

The song in the play cannot be deleted as it is

to the story. '
1. Intervened - 2. Innatc
3. Integral 4. Exact
Sheremained a all herlife.
1. Spinster 2. Bachelor
3. Unmarried 4. Single

Do not stay in grasslands after dark as some animals

become when they see humans..

1. Provoked 2. Alerted

3. Aggressive 4, Juvenile

Outand out

1. Complaining 2. outof game

3. thoroughly 4. decline

Odds and ends

1. neediess 2. watchful

3. strayarticles " 4. declining

Fire and sword :-

1. energy 2. destruction
brave

Q. (182-185.) Change the voice :-

182.

Who beat you?

1. By whom were you beaten?

. 183,

184.

1835.

2. Whom were you beaten?
3. Why were you beaten?

4, Whomdo you beaten?

This news alarmed me.

1. IThavebeenalarmed atthis ncws.
2. Iwasalarmed at this news.

3. Iwasalarmed by him.

4. Ihadbeen alarmed at this news.
Sitdown.

1. youwere ordered to sit down.

2. youhad ordered to sitdown.

3. youareordered to sitdown.

4, youhave been ordered to sit down..
May I see you pen?

1. May youpen will be seen by me?

'2. May pen be seen by me?

3. May your pen be seen by me?
4. May I see my pen through you?

Q. (186-188.) Change the narration of the following :-

186.

187.

“Call the police,” said someone.
1. Some one suggested that police mustbe called.

2. Some one suggested that police will be called by .
me. :

3. Some one told that the police will be called.

4. Some one suggested that the police should be
called.

She said to Tom, “open your mouth.” |
1. She warﬁed Tom to open mouth.

2. She ordered Tom to open his mouth.
3. Sheasked Tom to open mouth.

4. She told Tom to open mouth.



188. He said tome, “Wheredo you live?”
1. Hetold to me where I should live.
2. Hetoldto me wherel livé.
3. Heasked towhere I'waslived.

4. Heasked me where [ lived.

Q. (189-196.) In the following passage, there are some
numbered blanks. Fill in the blanks by selecting the
most appropriate word for each blank from the given
options :-

Animals have played a major role in human’s lives
throughout history. Today, scientific research is
trying to (189) .the positive aspects
of living with companion animals. Animals have
been ‘used as an (190) form of
treatment for many years. More recently it has been
discovered that owning a pet can help lower
people’s blood pressure, (191) the
chances of living after a heart attack, keep people
more active and provide more (192)

with life. It is (193) that this happens
because pets help people become more (194),
provide a means to give and receive (195)
, and help connect us with the

(196) world.
189. 1. evolve 2. discover
3. provide 4. impart
190. 1. alternative 2. secondary
3. mandatory 4. obligatory
191. 1. Elaborate . elucidate
. enhance . eradicate
192. 1. Satisfaction . lethargy
. discomfort 4. energy
193. 1. Practiced 2. supposed
. accepted 4. theorized
194. 1. Boring 2. Workaholic
. social 4, recluse

-
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195. 1. Affection

2. hatred
3. isolation 4, precision
196. 1. Artificial 2. Amiablc
4. Political

3. Natural

Q. (197-200.) Select the word which means the
opposite of the underlined word :-

197. On these tablets, they have inscribed writing which

they wished to preserve.
1. Ruin 2. conceal
" 3. hide 4. protect

198. The earliest books were not books in the modem

sense of the word.
1. new 2. ancient
3. .current 4. latest

199. The soldier was reprimanded for ruining his

immaculate uniform.
1. Shining 2. Dirty
3. Useless 4, Worthy

200, We should have cordial relations with our

neighbour.
1. Smooth * 2. Friendly
3. Sophisticated - 4. Reserved

.
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I&H TAST (839 HIZ) CLASS X (Answer Sheet)

Important Instructions:
1) Use only black or blue ball pen for writing/marking.

2) Darken the complete circie as shown : — @ . @ @
Correct / A €dT

3) Write Roll Number and DOB in the boxes
and also fill corresponding circle. X

ng / ai%3 :

4) Each question carries one mark.

| _ o Sample Roll No 343 ®&1 35 &89.
5) Use of white correction fluid is not allowed oot =
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